a b
40 O 1000
LR p <2.2e-16 = LRp <2.2e-16
Q 30 8 100
(o) 7))
@ &
= 10
3 20 s
2 =
E £
o
g 10 5
< 3 o1
5
0 Z 0.01
50 -40 -3 -20 -0 0 10 20 30 40 50 -40 -3 -20 -10 0 10 20 30 40
CA20 score CA20 score
c d
1000
LRp<2.2e-16 181 LR p=7.6e-09
. —
. { 5 ..
< (e} - -
Z 100 g 14
O 2
“6 —
o g 10
[0
o [%2]
€ 10 Q 6
> o
=z [$)
2
1
50 -40 -30 -20 -10 0 10 20 30 40 50 -40 -30 -20 -10 O 10 20 30
CA20 score CA20 score

. Low . High proliferation

Supplementary Figure 7: CA20 is associated with genomic instability features
independently of cell proliferation.



